Vo,

eurosysiems

eurosystems Deutschland
Motorgerate Handelsgesellschaft mbH
Im Fuchshau 14 + 73635 Rudersberg
Tel. 07183 / 30590-0 » Fax. 07183/ 30590-20
www.eurosystems-motorgeraete.de
info@eurosystems-motorgeraete.de

: XX.2010

Stand



P70

1/3
06/2010
40.0012.900
81.4588.000 26.1010.302
84.3685.000
26.1010.210 40.0010.090 86.2881.000
40.0010.080 | 5
26.1010.305
40.0010.100
86.2356.260
81.4530.080
We 5.010,
s00010070 el ..
81.4588.000 . \ \ 40,0012.030
36.0010.130 &S, —22.0010.909
23.1010.209 & - /

V4 86.3047.000
7 /" 36.0010.130 26.0050.258
\ 32.1010.301
yyyyy 84.3713.000 \
,,,,,,,,,,,,, .. 38.0010.275 37.0010.164 86.2752.000
400010050 e
E 400005080 e
R
e 32.1010.910
| R = /851350000
g v . 220 /
S _ e A A , 84.3605.010
................... g | = /tqj 40.0012.020
I e : 3685, - 84.3708.000

81.4588.000

81.4706.000
32.1010.200
40,0015.010
86.2494.000 10,001 000 33.0015.015
e 86.2860.005
27.0011.943
33.0015.012

81,4588.000

O SINISTRO/LEFT/LINKS/GAUCHE 40.0015.000 O

40.0015.001 @

® DESTRO/RIGHT/RECHT/DROITE



P70
81.4588.000

2/3
06/2010
84.3685,000 . _._T 81.4645.000
26.0050.202 26.0005.232

40.0025.075
40.0005.130

.....
_____

o

34.1005.377

23.1005,256
i
A.80.5995.000 2&0050.200%@\!

\If L 40.0005.140 81'4538-000\ e AT
81.4667.000 06.3005.142 M :
81.4703.00Q 26-3005.
81.2586.000
26.0005.906 \_;  81,4642.000

]
= { 4
84.3818.000\-—-~ A g\

T

1

f 26.0005.229 J" 23.1005.903 23.1005.257
/
|

/ 40.0005,120
N R 86.2494.000
86.5740.000 /
! / 84.3685.000 .
//J 81.4588,000—
40.0005.145

86.2741 .000"/ {

.......
.......
~~~~~~

-
=
o
o’

40.0025.084

81.4599.000 40.0005.325

0.0005.140

o

[

R
o

32.1005.213
40.0005.160

e o g

| s2oascbon /0 |
i o I
[ 86.2474.050 A  86:2741 66.3254.000— | , | |
40.0005.900 ,f\$ | 3
\@, / " [ %5\23.1005.257
;
. / I / | @\32.1005.292

80.8994.000 | |

!
"
i
{
i

40.0005.170
40.0025.072 )% ;\
P
32.1005.321 f’ \ 84.3812.000
81.4645,000

80.1040.060

40.0025.080

/82.6016.000

33.0005.980
26.1005.901

"\

84.3812.000
/
40.0006.180

A BRIGGS & STRATTON 34,3812.oooéI 26.1005.920

A KOHLER 81.4645.000

s



£¥6°1100°L2
080°eese’l8

000 0Vig o8 —— ==
Sl

080°2202°08
000°6Y57°18
060220208 72550000
0007025258
e ———000TVPL VS o
T - 00£75000°0% S
- 906°'S000°EZ A 000985218 “yeerco0oior
B — X Z£'5000°07
Q] LOE'S000°0 1L€76000°0%
o 9.0°6000°8¢ Z0£°6000°0F 201°9001°2
000°5552°9 015°50h0°0Y I
00¥°02Z00°€E | geeso
5000°0Y -5000" 026°5000°0% 000'6841°08
€2€'6000°0 860°3000°0€ o = £0£'5000°0¥ .
§LL U002~ gy ZLE'S000°07
000°589E°%8 LEES000°0F - €1€'5000°0%
Z62°5001°28
000°885%°L8
62£°'5000°07
¥1£'5000°0F
- S1E°G000°0%
0007€2L 68— ~  76Z'S00L'ZE
L0€°S000°0F 9LE'G0000Y & gecei0072
80€°5000°0F ; ,. L1€°5000°0%
£0£°5000°07 989°E100°/2
0£5000°0% %/9@88.3
SLLIL00LZ Mvoov.omoo.mm
0L£°5000°0 :
010Z/90 ." e
e £V6°LL00°LZ S 000°925Z°18
000ZE9T I8—— €D : 000°250Z°08
0ld



Doppelmesser Méhantrieb M250 / P70 G

08/2010

22.0010.909 81.4642.000
40.1020.123 /

26.0005.232
84.3818.000
86.2661.000 \
\P“”“

40.1020.170 é\
U/86'2655-000 81.4794.100 26.1005.102
&’/84.3812.000 \g é)
; T 40.1400.103

i
: 40.1020.123 84.6000.000 <P
e

; 81.2504.050
80.1342.000 ————=t>
_— 40.1020.038
M P 40.1020.042
81.2638.000 /§ |

\\ej
40.1020.110———-——-@

40.1020.116

40.1020.114 \éj

40.1020.11o\é

80.1342.000 ————»_DD

81.2638.000-——“__@ /81 .2586.000

i

i
40.1020.056 — &

86.3982.014 82.6037.000 i 40.1020.020
]
i

40.1020.915 !
81 .4533.000/'
84.3708.000
‘.w'
as.2:.-335.000\;i )
/ i i =
a4.37oa.ooo/° !
81.4588.000 'ﬁ\aez:;sa.aoo

40.1020.070

40.1020.920

86.3982.014




Doppelmesser Balken M250 / P70 |
AusflUhrung Busatis 20

08/2010

86.2459.060

40.1020.200

81.4588.000

40,1020.200

§8.2724.000
40,1020.106

40,1020,252
86.2681.010

81.4699.000
£86.2670.000

86.2566.000
40,1020.264

40,1020.261

40.,1020.263

40.1020.266
% ”34:?~:,\\~ 80.8866.000

é;ﬁyfae.zsss.ooo

T —40.1020,257

?\80.8866.000

aaneres®s”

40.1020.262

aaee?

!mlﬂ'”"

86.2473.000 e
"',,., "‘v..’
/A ’v..,,.":"q.""‘ 40.4020.260
40.1020.267 - M

86.2456.000

40,1020,259

el

l/ 81.4580.000

40.1020.258

40.1020.263



Doppelmesse.r Balken M250 / P70

Ausfihrung ESM 2010

2 1 1

Mt An
U [V
AVA JAVAVAVA

2

Tt
T

lo e[0 C9 9]¢ oo, 00 9js 6o ©|0 0000008 AQL O Al 00 Ol 00 0O OO0 00 0O o]

9
{

dh 8 28 g——urf

el ol

—

+—21

QA0
[0 o)

45—
10
O 00 Ole 00 ol OO Q Ologo 0ROje elono|lo © 0 00 GO0 0OC O 0 O
”7L Iy o o0 ‘o o o QGL__BQ h \
86 oa—7
00—
& % 3 gf
=1 ooyl R
3 131716 T 00 [oo
 —"
& &— 23 3 %3 —1 34
12 2% |od-30
1802
Ennepetater Schneld-y, Actikel-Nr.| Linge
Mahtachnlk GabH uco KG HobbV Donpelmesser €
gfggqsgg;;;é.g; ESM Eurosystens 122 0390 102 cm_| Arbeltsbreite
Telefon (0233 ;9638-0
Teletax (02333] 9688-08
Intarnett wwwesm-ept.de
PoyjArtiical=-Ne Bezelchnung Pos|Artikel-Nr Bezeichnung Pas|Artikal=Nr Bezelchnung
248 1780 Mahmesser 107 em 267 0800 Messerhalter kpl.
. hainhalteh: Pos. 12-17 238 0011} Laufsohle kpl.
bestehend aus: Pus.1-9 121332 2180 Masserhatter bestehend aus:Pos, 30-35
131364 3550] Winkal
11544 0111 Senknlet 5x12 14| 364 3560] Winkel 301341 0090 Laufsohle
2| 544 0171 Senkniel Sx20 3113410850 Laufsohlenhalter
240 0100] Schraubenset , kpt, 321555 0190 Scheibe 8,4
41344 1331 Messerklinge bestehend aus: Pos.15-17 |33]565 0110 Federring A8
51344 1311 Dopgelklinge 15 Flachrundschr, M10x1x70 | 34560 2230 | Sechskantschraube M8x25
6344 1321 Dogpelkllnge 16 Sechskantmutter M10x1  |35{537 0420 Sechskantmutter M8
71332 0200] Fiibrungsleiste 17 Federscheibe A0
91353 0480 Messerriicken 107 em
191332 2920 Relbeplatte
201560 2180 | Sechskantschraube M8x16
211341 17801 Gleitkufe
265 0870 Untermesser 102 cm 231562 0780 | Flanschschraube M8x10
251565 010 Federring A8
Untermesser 261559 0190 | Flachrundschr, M8x25
best.aus: Pos. 1,5,6,10 271537 0420 Sechskantmutter M8
10{353 0030 Messerriicken 102 cm
Unfallsicherung
o 111312 53401 Balkenriicken 107 ¢m
m 925 0090} PVC-Schutzleiste 107 cm
g J




,, 010Z/10
oo zzzerss 0/d / 0STIN @sesnequy

000 G8edes

: WA S
0I£°SOCE 0 2
08E'500ET SITGL00EE—] 3 ]
000°E8Y: 'y 7
y \\-\

QLT CI00EC
0E'Cigi gg

e

(A




ooo.mmwm.mm om«.aoz.o«
@g:s gm.ogwg//‘w w\ N: oHON\S
00¥°00¥4 0F = 00v"00%1 07 0/d / 0STIW

OE.SS.%
000°679¥'18 Wwd €9 Jsyewydinwisyols

000°6VOY 18— L10°00vL°0F
oﬁ.ooi.%\\.\\%
@\02.82.%
007" 00%L 0
0070074 0%
Y 4 < SLy'007L 0
SYL007L 0% ./f.!oomoow m«

- /mﬁ.ooﬁ.oq

000°g¥or’ie

\bw
000°GhorLe

! ¥0L°00%1 0F 00i'98lc'g8

0007885718
o0 Q0¥ OF

00080478 LQL'00¥L 0%
= S16°00¥L 0%

£0L°00%L 0%
\ 965°100°LZ
\ 0s0'yeszle -

=

gs0’oovi oy gceoorioy



¢/t 0T0Z/TT

0Zd 0STIW
WD £9 JAYBWIYDINWIBYDIS

000'88GY'L8

000°v612'08

oLo0ovL or

7

00°885Y'L8

-y

016700710V ,

000'76%2°98

o0Lo'tesles
000'skar’Le

/

€eT°00el'9e

ol oovi oy

0£1°00¥L 0%

050¥65C°18
9L1'5001°92

000 V6298 S90°00F1 0%

06e0°00vL 0v
0ol ooviov

Z£Z'5000'9Z
000°SHOP'L8

006°00%1 0%

000°899¥F°L8 —





